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General instructions

. Please read the given instructions carefully and adhere to them.

. All the questions are compulsory.

. This paper contains 30 questions.

. This question paper has been divided into four sections - section A,B,C and section D.

. Section A contains 15 objective questions and each question carries one mark each.

. Section B contains question 16 to question 21 and each question carries 2 marks each.
. Section C contains question 22 to 27 and each question carries 3 marks each.

. Section D contains question 28 to 30 and each question carries 5 marks each.

9. Section B and C has two questions each of internal choice. Attempt any one.

10. Section D carries three question each with an internal choice . You can attempt any question
of your choice.

O ~NO O WN -

s - & (Section A)
et 1 oot 7 @ &ler &1 W v N & g@d N Bt FAAAR BT &
& IEHT et
g arsfehel TeTeT
g qgell i
PEIEE
Question 1 Which of the following games get transferred from one generation to another?
a skipping rope
b cycling
¢ solving riddles
d none of the above
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Which food products can be substituted in place of meat and fish to obtain good quality protein?
a. Roots and tuber

b. Dry fruits

c. Wholegrains

d. Soya bean
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One amongst the following is not a type of income—
a. Money income

b. Imaginary income

c. Direct income

d. All of the above
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Who amongst the following developed the kindergarten system of teaching
a Jean Piaget

b. Froeble

c. Maria Montessori

d. Hurlock
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Which kind of work should be prioritized while framing a time plan for oneself.
a. Urgent work

b. Voluntary work

c. Work for entertainment purpose

d. Religious work
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This stage of sexual development obtained in adolescence can be termed as—
a explosion

b. Puberty

C. Maturity

d. All of the above

e 7. Y4 SToATaE AT A dedi & &R J U3 I eI4Td gl §, :
The ratio of head to body in early childhood is :

92T 8 2fTer TS 18T g1 aTel o7 Uery hgelld & .

Food that does not get spoiled easily is called

95T 9. FNiE T AT & IEIT H FHA offed & forw I Srar g2

Gum is used to bring stiffness to fabric?
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Animal products are a good source of which food nutrient?
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Carrying your tiffin to your workplace from your home is a way to increase what type of income?

92T 12 foregl af 3792Nveh Yerd & oI1H forg

Name any two Grease absorbents.
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Assertion (A) : extra supplement of calcium in a lactating mother is very important
Reason ( R) : supplement of calcium in the lactating mother reduces the chances of the baby
utilising calcium from deposits in the mother's bone .

a. Both assertion( A) and reason ( R) are correct and the reason is the correct explanation

of the assertion

b. Both assertion( A) and reason( R) are correct but the reason is not the correct
explanation of the assertion
Assertion( A) is correct but the reason( R) is incorrect
d. Assertion( A) is incorrect but the reason( R) is correct
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Assertion (A) : Adolescence is also considered as period of storm and stress.
Reason ( R) : stress during adolescence mostly arises from physical emotional and social
changes in the adolescent.
a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion
b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion
c. Assertion (A) is correct but the reason(R) is incorrect
d. Assertion (A) is incorrect but the reason ( R) is correct.
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Assertion (A) : washing clothes is a work which is included in less labour category

Reason ( R) : Any task that requires an additional energy expenditure of 50% per person in an
hour can be labelled as hard labour work.
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a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion

b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion

c. Assertion ( A) is correct but the reason(R) is incorrect

d. Assertion (A) is incorrect but the reason ( R ) is correct.

Ws-T (Section B)

2116 Wol ! TRHATNT Y|
Define play

T2 17 TR HRATT NI wifea & forw arell 9T &1 31 fAeR e 87

Why do majority of Indians depend on pulses to meet there protein requirements
OR
IRETSN 3fFwaS T FIT AcIT 872

What do you mean by finishing agents ?

9%eT 18 IRAR & gre g1 arell Hifeleh 3111 & FS ANl & ATH TATT?

List some sources of monetary income in a family.

TR 19 3l I Y HIE Hic FHY AT H Tl dTell & HEF Tl TdATT
List two precautions to be kept in mind while storing your woolen blazers.

9257 20 TAeITaE Qe | T AU 572
What do you understand by the term adulteration?
OR
STTdY AR SaRT feh 37T 3MER TSI i hdl THTTAT hicll & HaTT H HHAAT|

Explain briefly how the climatic conditions of a place affect meal planning.

9% 21 YLH &S H YYF Blol dlel Ueh Telehells 3TaRNh Td Ueh fRiehalls faoirdes dea ohr ATH

EEIY

Name one grease solvent and one grease absorbent used in the process of dry cleaning.
@s- I (section- C)

92T 22 g9l GaRT Wel ST dTel Well I fohedl & faATdn3it &1 quter Y|
Briefly explain any six qualities of games played by children.
OR
JEI AHIOT A 1Y FAT FASIA & , 6 [heX T helRat & feet-feeT fohey gep glar 87
What do you understand by the term growth spurt? How does it occur differently in adolescent
boys and adolescent girls?

g2 23 3T UH 37T A FIT ¢ g Ig [hdeh GaRT d F1 AT SI1am 72
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What does ISI mark stand for and who gives ISI mark and why?

ST 24 3T THIS T F HIA N0 el & 1S AleT TaHTeT ik GSATT|

List down any three effective ways to implement work simplification in your kitchen.

92T 25 Hefoer dYel fohet ar wiey uerdf # fAemr Sar & 3R I8 gAR Tareey & fav 4
gifasRas 872

Which two food products are commonly adulterated with maternal yellow and how is it harmful
for our health?

25T 26 3MTeRT THAIGT G TX fold=T ST o1 1T &

o {&Fd ol

o foufEes &t
3oTeh! Tt o folT 3179 shieT AT fAfET 31qaTTer
Your favourite dress has been stained with the following

e Blood stain

e Ballpoint pen stain

e Lipstick stain
which method would you use to remove these stains?

OR

fATaT & HROT IYSIFAT I ElA ATl IS el A BT & TR H FAT|
Mention any three disadvantages that a consumer has to put up with every time he or she
experiences adulteration.

9RaT 27 Hifoeh 3T 95T & $& 3URT G|
Suggest a few ways to increase monetary income of a family.

@s- T (Section- D)

g2eT 28 URAR & foIT 8ot @I A 3T ATFANT TaTodl o fohet [ATAT T GTeleT HLaN?
What rules pertaining to personal cleanliness would you follow while preparing meal for your
family?

OR
TS B A GReT Gl Fo Fraunfaar & IR 7 JHs

Mention a few precautions that should be taken to ensure safety in the kitchen.

TReT 29 Sl T FS5 SYIERITT THTITHT T el FX 3odoh fieTel & o IUTT FoT |

List down a few behavioral problems of children and also suggest ways to tackle them.
OR

T & AT BT THITIT et dTel W HRF diot-hiel § § 3aT60T Higdd FISC Y|

What are the main factors that affect work simplification? Explain with proper examples.
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Which five principles of meal planning would you pay special attention to while planning meal
for your family?

OR
wﬁw%mﬁmmmmﬁmw HAEAT3T T fIEAR deh ool

Mention in detail any five problems that you have ever faced as a consumer.
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